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Skills and Vocabulary

Circle the correct attribute that could model a function given
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The leading coefficient must be: The leading coefficient must be: The leading coefficient must be:

POSITIVE or NEGATIVE POSITIVE or NEGATIVE POSITIVE or NEGATIVE
The degree must be: The degree must be: The degree must be:
EVEN or ODD EVEN or ODD EVEN or ODD
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The leading coefficient must be:
POSITIVE or NEGATIVE

The degree must be:
EVEN or ODD
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Sketch a possible polynomial with all integer coefficients given the attributes listed
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The polynomial the following zeros The polynomisl the foliowing zewe

x = 3; multiplicity 2™ x = 0; multiplicity 3
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oo 7 o (x* k1) p
The zeros are:

X20 w2 X1 X=-|

The x-intercepts are:
(0,0) k-llo) ‘."‘to)
% The y-intercept of the polynomial is: _(© )

#The end behavior of the polynomial is
if x = o theny — _©Q
if X = —eo theny — ™0

-1};% g (- v)(xx\)
X =0 xg - .X ’,C,)

Mok 2 X =" B

X=0 Cr
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y“”"“”" X (&z—nx-k) ~ ¥ W

The zeros are:
X=0 X=S <~-1S
The x-intercepts are:
(0,9) (s,0) (-.0s,0)
4 The y-intercept of the polynomial is: {Q;_o)

¥ The end behavior of the polynomial is L b J
ifx >0 theny — X __

if X = —oo theny — =0 _

X ( X° <17 X - t.o) " X(X-%QX(X*,‘%

>
X - p-*
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y=2x"-50x" ' f b

The zeros are:
X~ O wmo\k 3 X~ -S ¥X=5

The x-intercepts are:
(0,0) (’Sm\ (S-(’)
The y-intercept of the polynomial is: £°_13>

The end behavior of the polynomial is \ * J
if x — oo theny — W

if X <» oo theny —» = p
R e
Zx° # 25) -
<> ) -
x) -(s S
- - X—’
l X:OM\»"E X S
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y==2x"*-3x"+4x*

The zeros are:

X= -7.9% X= .%S

X220 me\ 2

The x-intercepts are:

Q. 2.35,0) (. 9;10) (_Q,o)

The y-intercept of the polynomial is: ( 9, °)
The end behavior of the polynomial is
if x = e theny —

if x = oo theny —
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y=62x—5)(x+7)‘ - Xs

The zeros are:

X=2.95 X=T wao\y 8

The x-intercepts are:
("L. $,0) (:1 ,g)

The y-intercept of the polynomial is: go ) )7-005)

The end behavior of the polynomial is

if x = e then y —
if X =» =0 then y —

i E

_ ) y

The following polynomials are in FACTORED FORM. Answer the questions and sketch a reasonable graph

}’=X3(2X—S)(’x+5)z X °X‘. Xt
. s

The zeros are:

X0 ek D3 %=2.5 R=-Sew2

The x-intercepts are:
(©°) (2.%,9) (-s,9)
The y-intercept of the polynomial is: &‘9)

The end behavior of the polynomial is
if x — e theny —

if x = —<= theny —

D
(@)
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For each of the following below, build a polynomial with ALL integer coefficients and has the L"-__ 2
characteristics described, o
Zeros: Zeros: Zeros:
x=3; mult 2 x l'_ x=0; mult 3
X=-5 x=v7 X =~4j
X=-17
= ’S
(x@'g(m s) M @‘s
X* -3X —3x . (X")(X-G\ :MF{) 5
- L 4
2 X e, G
(x-) (X M&’n“-xﬁ-j) i
(X A VIETE ) &
y 3 2
i -1Qu >
%> - GX* +ax +5x° -30X 44 S R --0 3
— ANA NN AN A S - )((X _\L(4\3>
2 RN =X - 31
'X - X -'z\x-rqs\ — xml.)
, Lx -XT A +ﬂ

Made with Doceri



Untitled 27.pdf Page 9 of 10

Math Il Study Guide Unit 2

Find the Quotient of the following using the technique as described,
long division synthetic division

2x° -9x*+15 Ix' —2x° +4
x+1
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f(x)=x’+5x" ~8x—48 given (x + 4) if a factor.

COMPLETELY FACTOR THE FOLLOWING GIVEN FACTOR PROVIDED. THEN MAKE A
SKETCH BASED ON THE FACTORED FORM

l 5 b =g K -3% -y
2 x-q Lx_g_il)

iy

(x+2)( - x> -3 *q;} - +2)x("3(’*£‘? "i‘)

(% +2)( x)(-m% Xz-2 Sl

-i_‘ i B =¥ & ¥ r | R
l, “y =5 55
~
Iy x <12 » (x"*)(x*ﬂ(x-z) -
(xeu)(x* + x ~12) ">‘<‘3 X=-Y  x=3
i 2 & ’
f(x)z-x‘—Sx‘—Zx"+8x given (x + 2) if a factor. _4
-4
:_2__, . A T o %3 ¥ N
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